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Candidates are required to give their answers in

1.  Answer any ten questions:

their own words as far as practicable.

2x10=20
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a)

b)

d)

State the benefit principle of taxation.
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What do you mean by market failure?
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State two cases when government intervention

is needed.
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Write two merits of progressive income tax.
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g)

h)

1)

k)
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Mention two sources of revenue of the

government.
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What do you mean by budget?
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If edacity of demand exceeds elasticity of supply
what would be the share of burden of commodity

tax between consumer and producers?
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Define fiscal deficit.
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State characteristics of a pure public good.
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Give one example of negative externality in

production.
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Give one example of mixed good. Why it is

called mixed good?
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What do you mean by deficit financing?
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m) What do you mean by public finance?
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n)  State two purposes for raising public loan.
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o) What do you mean by fiscal federalism?
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p) Distinguish between direct and indirect tax.
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q) Mention two demerits of expenditure tax.
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2.  Answer any four questions : 5x4=20
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a)  Briefly discuss the effect of progressive income
tax on work effort.
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b) What are the major features of a good tax
system?
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d)

506/Eco

Briefly discuss the role of public finance in a

developing economy.
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What do you mean by Laffer curve? Critically
evaluate the concept of Laffer curve.
2+3=5
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Do you think benefit principle of taxation
satisfies the necessary condition for optimum

provision of public good?
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What are the classifications of the expenditure

account in a government budget? Briefly explain

importance of each type of expenditure.
24+3=5
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3.  Answer any two questions : 10x2=20
@ (@IS vt aeae Ted w6 ¢
a)  How does externality affect market efficiency?

b)

d)
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What policies can the government use to correct

the problems of externality? 6+4=10
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Define alternative concepts of vertical equity
in ability to pay principle of taxation. In which
case loss of social welfare due to tax is
minimized in ability to pay principle? What are
the major demerits of ability to pay principle?

5+2+3=10
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Discuss the effects of internally held public debt

on the economy.

LIS @ oq Srer@ e AIFIE Ao 2SI ST
|

Compare the necessary conditions for optimum

allocation of resources when only private goods
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are produced with the case when public good is

produced along with private good.
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